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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
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ELECTIVE COURSE : ECONOMICS 
EEC-14 : AGRICULTURAL DEVELOPMENT IN 

INDIA 

Time : 3 hours 
	

Ma ■nmun 	rks : 100 

Note : t.uswer the questions as per instructions xicen for each 

Section. 

SECTION - A 

Long Answer Questions 

Answer any two questions from this section. 	2x20=40 

1. Discuss the issues involved in taxation of 
agricultural income in India. 

2. 	Discuss the patterns of private sector and pt 
sector investments in agriculture since 1080. Are - 	- 
they considered to be complementary to each 
other ? 

3. What do you mean by 'Green Revolution' ? What 
were the factors that led to green revolution in 
India ? 

4. Examine the effectiveness of Public Distribution 
System (PDS) in India, What suggestions do you 
make for improvement in PDS ? 
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SECTION - B 
Medium Answer Questions 

Attempt any four questions from this section. 	4x12.-,,48 

5. 	Explain how the linkages between agriculture and 
ind ustry are ehdriai n, over  Lime  in India. 

G. 	Compare major and minor irrigation projects 
keeping in view efficiency, capacity utilisation and 
gestation period. 

7. What are the measures introduced atter 
independence to improve land relations in 
India ? How far have they been effective ? 

8. Explain the nature of subsidies in agriculture in 
India. 

9. Explain the importance of adequate warehousing 
facilities for agricultural commodities. 

10. Write short notes on any two of the following : 
(a) Permanent Settlement. 
(b) Khadi and Village Industries Commission. 
(c) Consolidation of landholdings. 

EEC-14 	 2 



SECTION - C 
Short Answer Questions 

,answer both the Questions front !Fos section 	2x6= 

11. 1)istinguisb between any two of the tollov■  

(o) 
	

4oss Cropped lrea nd Net Cropped 

Co ) 
	

Mdri\Cted 	 ":-;t I r 

(c) 
	

1,1v 	tibsid 

12. Lxploin any two Of the following 
(a) Inter - sectoral terms of trdde. 
(b) SIN Bence cropping. 
(c) Ag-ro - climatic zone. 
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